1-Tray Tools Required:

1 - Handle assembly 2 -15/16" or (25mm) Wrench
1-9/16" or (15mm) Wrench

Box Contents: 1-7/16" or (11mm) Wrench

2 - 15/16" Hex Nuts (should be on axle) 1 - Hardware Pack

1 - 5/8" Dia. x 8 - 1/4" Long Axle Contents:

2 - Support Legs 6 - 3/8" Nuts

2 - Short Leg Braces 6 - 3/8" x 1 1/4" Bolts

1 - Long Leg Brace 5 - 1/4" Nuts

1- Wheel 5 - 1/4" x 3/4" Bolts

CHECK CARTON CONTENTS AND TOOL REQUIREMENTS BEFORE STARTING.
DO NOT WRENCH TIGHTEN NUTS UNTIL ENTIRE WHEELBARROW HAS BEEN ASSEMBLED.

® Step 1 Place tray on the ground open side down.
Lay handle assembly upside down on tray
and line up holes. Step 1 g/._‘,
e Step 2 Insert two 3/8" x 1 1/4" bolts through HANDLE \»

the front mounting holes so that the heads - /
are inside the tray and the nuts are on /\?‘\\'

the outside. Only hand tighten nuts.

e Step 3 Select one of the support legs and orientate
it so that the vertical bar is towards the
back of the wheelbarrow and the slanted side
is toward the front, also leg should slant
outward and not inward. Insert two 3/8" x
1 1/4" bolts through the tray, handle assembly
and the support leg so that the heads of the
bolt are inside the tray and the nuts are
outside the tray. Only hand tighten nuts.
Repeat this step for the other leg.

o Step 4 Select the long leg brace (the one with three
holes). Mount brace on the inside of the
support leg assembly using the two holes furthest
from the tray. Insert two 1/4" x 3/4" bolts so
that the heads are facing outside the assembly

and the nuts are inside the assembly. Only hand Step 3
tighten. SUPPORT
o Step 5 Attach the two short braces to the center hole LEGS

of the long brace mounted in step 4. Use one
1/4" x 3/4" bolt and nut to secure the braces.
Ensure bolt head faces outside the assembly
and the nut is inside the assembly. Place nut A
on loosely. Swing short braces so that they

line up with the lower holes on the support

leg assembly. Insert two remaining 1/4" x 3/4"
bolts through holes in the same direction as the
first three. Tighten nuts.

o Step 6 Wrench tighten all nuts.

o Step 7 Remove one of the 15/16" nuts from the axle,
place the wheel between the two wheel supports,
run the axle through the supports and the wheel
hub secure with the removed nut and tighten.

A MILLER MATERIALS

A DIVISION OF WELLMADE

ssssss



